
เฉลย ตอนที่ 1 

1.  ตอบขอ 2 

2.  ตอบขอ 4 

3.  ตอบขอ 3 

4.  ตอบขอ 4 

5.  ตอบขอ 3 

6.  ตอบขอ 3 

7.  ตอบขอ 1 

 

 

เฉลย ตอนที่ 2                                                                                                                       

1.  ตอบ  ห.ร.ม. คือ 6  และ  ค.ร.น. คือ 120   

2.  ตอบ32  

3.  ตอบขอ 3 

4.  ตอบขอ 2 

5.  ตอบขอ 4 

6.  ตอบขอ 4 

7.  ตอบขอ 3 

8.  ตอบขอ 3 

9.  ตอบขอ 3 

             

 

 

 

 

 

   

 

เฉลย ตอนที่ 3 

1.  ขอ 3     

2.  37  

3. 18 

4. 54 

5. 10 รูป 

6. รูปที่ 10 

7. 9 รูป 

8. 4 เสนทาง 

9. ขอ 3 นาย ง 

10. ขอ 2 นาย ข เขาเสนชัยเปนลําดับที่ 2  

11. ขอ 1  

12. ขอ 4 

13. ขอ 1 

14. ขอ 2 

 

 

 

 


